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Pill Box

$reg kprob=1, dx=2.0, kprob=1,
xdri=50.0, ydri=99.0,

nbsup=1, nbslo=0, nbslf=1, nbsrt=1,
freq=114.0, kmethod=1, beta=1.000000%
$po x=0.0, y=0.0 $
$po x=0.0, y=100.0 $
$po x=100.0, y=100.0 $
$po x=100.0, y=0.0 $
$po x=0.0, y=0.0 $
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Pill Box F = 114.74189 Mz
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Pill Box

$reg kprob=1, dx=2.0, kprob=1,
xdri=1.0, ydri=99.0,

nbsup=1, nbslo=0, nbslf=1, nbsrt=0,
freq=100.0, kmethod=1, beta=1.000000%
$po x=0.0, y=0.0 $

$po x=0.0, y=100.0 $
$po x=50.0, y=100.0 $
$po x=50.0, y=0.0 $
$po x=0.0, y=0.0 $
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Pill Box F = 188.78304 Mz
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PI_mode.af

$reg kprob=1, dx=0.020000, xdri=0.750000, ydri=1.386000,
nbsup=1, nbslo=0, nbslf=0, nbsrt=0,

freq=9400.000000, kmethod=1, beta=0.940651
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$po
$po
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x=0.000000, y=0.000000 $

x=0.000000, y=0.400000 $

nt=2, r=0.075000, theta=0, x0=0.000000, y0=0.475000 $
x=0.075000, y=0.725000 $

nt=2, r=0.675000, theta=90, x0=0.750000, y0=0.725000 $
nt=2, r=0.675000, theta=0, x0=0.750000, y0=0.725000 $
x=1.425000, y=0.475000 $

nt=2, r=0.075000, theta=270, x0=1.500000, y0=0.475000 $
x=1.500000, y=0.000000 $

x=0.000000, y=0.000000 $
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$po nt=2, r=R, theta=f, x0=X, yO=Y$
0000000000000 (X, YY)OODOOOOODOODO ROOOODODOOODODODOOOODOOD



Pl _node. af F = 9315.2955 Mz
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